תרגולון – תרגילי חשבון לכיתה ה   
כפל שברים עשרוניים בשברים עשרוניים:
פתרו את התרגילים הבאים :
 1.   2.3  x 0.1   = 





11.      0.1 x 0.25  = 
 2.     0.4  x  0.1   =





12.     0.1 x 0.182   = 
 3.     1.3 x 0.1  = 





13.     0.1   x  1.04 = 
 4.     2.2  x  0.1  = 





14.       0.1  x  2.2 = 
 5.    0.8 x 0.1 =





15.     0.1  x  10.88 = 
 6.    0.65 x  0.1 = 





16.       0.1 x  1.06 = 
 7.    1.32  x  0.1 =





17.     0.1  x  2.006 =   
 8.    4.45  x  0.1 =





18.     0.1 x  4.02 = 
 9.    0.568  
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  0.1 =




19.       0.1 x  0.008 =
10.  10.1 
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  0.1=



   

20.      0.1 x  5.504 =  
 השלימו את החסר :                                                                                                                        

   ________  
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    2.5  =  0.1                         ________  
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 0.1  =  0.03 
   ________  
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  0.1 = 2.14                           ________ 
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 0.1 = 6.124                             ________ 
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 0.1 = 0.66                            ________  
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 0.1  =  0.45 
   ________  
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  0.1 = 2.12                            ________ 
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 0.1 = 66.24
פתרו את התרגילים הבאים :
 1.   2.31  x 0.01   = 




11.      0.01 x 0.25  = 

 2.     6.4  x  0.01   =




12.     0.01 x 0.182   = 

 3.     11.3 x 0.01  = 




13.     0.01   x  1.04 = 

 4.     24.2  x  0.01  = 




14.       0.01  x  2.2 = 

 5.    0.86 x 0.01 =





15.      0.01  x  10.88 = 

 6.    6.65 x  0.01 = 




16.       0.01 x  1.06 = 

 7.    14.32  x  0.01 =




17.     0.01  x  2.006 =   

 8.    42.45  x  0.01 =




18.     0.01 x  4.02 = 

 9.    0.568  
[image: image11.wmf]´

  0.01 =




19.       0.01 x  0.008 =
10.   12.1 
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  0.01=



   

20.     0.01 x  5.504 =  
 השלימו את החסר :                                                                                                                        

   ________  
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    2.5  =  0.01                         ________  
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 0.01  =  0.42 
   ________  
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  0.01 = 2.04                           ________ 
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 0.01 = 6.224                      ________ 
[image: image17.wmf]´

 0.01 = 0.68                           ________  
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 0.01  =  0.66 
   ________  
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  0.01 = 2.04                           ________ 
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 0.01 = 64.004




























_1195387826.unknown

